P-1

A= B
20184 2H 18H (H)
W BT o
FIHHIRR -
HDCP EFR (%) 1 999.9  HDCP LBR (%) : 999.9
4 j j N\
g | = & | K 4 ouT © IN GROSS| HDCP | NET
& W5 O i =R 47 45 92 | 26.0| 66.0
HEER; | © A s 46 ¢ 41 87 | 17.0 | 70.0
e | © FH FIER 45 43 88 | 18.0| 70.0
ANF A iR 40 @ 52 92 | 22.0| 70.0
VA | W %= | 4. 4. . | 8 |17.0] 7LO|
6137 M ek 48 48 9 | 25.0| 71.0
LA mHE R 45 51 96 | 25.0| 71.0
8fir AR 46 46 92 | 19.0| 73.0
9L Bl € 47 ¢ 46 93 | 20.0 | 73.0
oo | ] A EIE ] 52 . ) N S 103 | 29.0 74.0
IRETA A E— 51 53 104 | 30.0 | 74.0
127 /NE AR 48 45 93 | 18.0 | 75.0
IRIA BRIl BER 47 46 93 | 18.0| 75.0
1441 [N <P e 56 © 48 104 | 29.0 | 75.0
L VA /S E o SRR ol 54 105 1 30.0 75.0
16{i7 e HA 42 1 56 98 | 22.0| 76.0
1751 I AR—RR 46 53 99 | 23.0| 76.0
1841z (AT 50 @ 44 94 | 17.0 | 77.0
1947 o OBRET 51 43 94 | 17.0| 77.0
2002 | ] MR w45 50\ | 95 | 180 77.0|
2141 AR R AT © 50 | 97 | 20.0 | 77.0
22437 %iE G 48 50 98 | 21.0| 77.0
2311 TH &R 46 © 52 98 | 21.0 | 77.0
24431 fasF ik 45 51 96 | 18.0| 78.0
B A B ] 50 50 | 100 | 22.0 78.0
2617 RS 50 . 55 105 | 27.0 | 78.0
2747 wmH == 52 46 98 | 19.0 | 79.0
28(ir Wi e 50 50 100 | 20.0 | 80.0
2901 T g 49 52 101 | 21.0 | 80.0
csof | ] HE wE | 4T 54 © | 101 | 19.0 8.0
3IHL =W B 50 © 51 101 | 18.0 | 83.0
32fi1 FARK HEHL 52 . 54 106 | 22.0| 84.0
33\ W A 56 @ 56 112 | 27.0 | 85.0
34437 HF — 62 © 53 115 | 28.0 | 87.0
1A S W R 59 . 51 . . | 110 | 22.0 8.0
36/\7. Wi H A 52 60 112 | 24.0| 88.0
37hL PP AES 56 © 57 113 | 25.0 | 88.0
38{i7. T AR 47 62 109 | 20.0 | 89.0
39hL ¥ K AT 62 109 | 20.0 | 89.0
[ 40fiL Wi BT 57 © 52 109 | 20.0 | 89.0 ,

Tk =)L 7 AHEEED



pP-2

Apl= B
20184 2H 18H (H)
Wi FEiNrT o
FIHCHIPR :
HDCP B[R (5%8) 1 999.9  HDCP_EBR (%) : 999.9
4 ! N
g o | = ’ K 4 oUT | IN GROSS| HDCP | NET
AL EA BEKER 62 48 110 | 21.0 | 89.0
424T. v RS 59 1 60 119 | 30.0 | 89.0
4347 HEH A 64 . 47 111 | 17.0 | 94.0
44457 Bl ot 71 53 124 | 28.0| 96.0
7 A | L D 58 . TL.. 129 130.01 99.0
461L NI =) 76 . 64 140 | 31.0 | 109.0
- J

Tk =)L 7 AHEEED



